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AT 7597 :

(i) 3T Y¥7-9F &1 qiel G771, 3, §, @, ¢ AN T H FieT T8 | 9H @HT 97 F FEH
& I 7@ 8 |

(i) @gt go7 Har &

(iii)  YFTF, @, § 3K T & Fo91 § ke 727 1397 T 2 |

(v) YT 37 & Y97 G&I1 1 3K 2 UH-UF 3% & Yo7 & | 39 I Uk Yo 379a] Uh
FIFTH 378 |

(v) YT & T G&IT 3 G5 51-31 IH & FoT 8 | 399 I TTT 30 Feg) TP H 37
&/

(vi) YT @ 3 J97 G&IT 6 G 15 F7-di7 371 & J97 & | 579 IF FTHT 50 Veg] Fedih &
GTE |

(vii) YT § % Jv7 G&IT 16 & 21 Tia-7ia 371 & J97 & | 5799 I TTYT 70 5G] FAH
7181

(viii) YT T & ¥97 &7 22 & 27 FANTHE HIvIT W ATENRT 31-51 37H & J97 8 | 59%
G 3T G &

General Instructions :

(1) The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

(it)  All questions are compulsory.

(iti) Internal choice is given in Sections B, C, D and E.

(iv) Questions number 1 and 2 in Section A are one-mark questions. They are to be
answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are to be
answered in about 30 words each.

(vi)  Questions number 6 to 15 in Section C are three-marks questions. These are to
be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These are to
be answered in about 70 words each.

(viii) Questions number 22 to 27 in Section E are based on practical skills. Each
question is a two-marks question. These are to be answered in brief.

YT A
SECTION A
1. 39 I & 3g@ shifoe fomeh 3rarla foredt =mets @ 910 venfed & dehdt 2 | 1
Mention the condition under which a current can flow in a conductor.
2. R Ul h ¢ AWl I FH IR | 1

List two merits of solar cells.

e iysonm
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R IRINC)
SECTION B

3. ﬁéﬁmzocmqﬁw@%%@waﬁa%wﬁmﬁﬁmcmaﬁm
ford 2 | 39 faw & o g s 9t gfdifars & 9w siftson f o=
EEIEL 2

JAUAT

fortht Uresl wream & 3™adTes hi gitareT fafaw | Tl arem, fSaent fue
AU 1-5 8, H TohII shl I 2 x 108 ms—1 B | THald & yeorar i =
feRat 8 2 2
List four characteristics of the image formed by a convex lens of focal

length 20 cm when the object is placed in front of it at a distance of 10 cm
from its optical centre.

OR
Define refractive index of a transparent medium. The speed of light in a
medium of absolute refractive index 1'5 is 2 x 108 ms—1. What is the
speed of light in vacuum ?

4. ¥ fug @ mn R 5 e et @ fagq gm yenfgd 89 W 3He WW IR
Jrachl & 39 B AN 7 | R THE (1) Yot wOm, (i) =gl & Gl %
I 3R off 3t YR & Frahi &9 IcUd B 8 ? YA YR B U I H
gfee i | 2

It is established that an electric current through a conductor produces a
magnetic field around it. Is there a similar magnetic field produced
around a thin beam of moving (i) alpha particles, (ii) neutrons ? Justify
your answer in each case.

5.  “TIAATSA T UIHTSH A § YRadd Teh IU=EH (ATaeientor) rfufshar & 1”7 89
qTeft T STTshan 1 YTafiteh @Hishior dd gU 36 o 6l gfsd HifST | 2

“Conversion of ethanol to ethanoic acid is an oxidation reaction.” Justify
this statement giving the relevant equation for the chemical reaction
involved.

e
SECTION C

6. TS WU H I 1 1 qfuersTi hl TR TR | a9 fhw TR smaRia
(T2) B I 2 2 SIS o TATSR0 W & GO I 3g@ I | 3

List three roles of forests in conserving the environment. How do the
forests get depleted ? State two consequences of deforestation on the
environment.
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7.  (a) UHfde ol i FEfa 9wE TE Rl S et StorsaRnetst i
frafia ger 1 Tawehdt Bt & | T4 ?

(b) 3T HM 7 ? A foreht wifid & sroereant 1 qof w9 & 3qe o fan
ST, o 3Rt ST RO I 2 379 IR o dmedq ¥ gfse i | 3
3AYAT
JIATEA b IR TR W AW fhd TR g ? $Hb Hewd &l Ig@

HIT | 306 B & AT HH IR B 2 FNTH-BH B Th Bl THE
fefa | 3

(a) Natural water bodies are not regularly cleaned whereas an
aquarium needs regular cleaning. Why ?

(b)  What are decomposers ? What will be the consequence if the
decomposers are completely eradicated from an ecosystem ? Give
justification in support of your answer.

OR

How is ozone formed in the upper atmosphere ? State its importance.
What is responsible for its depletion ? Write one harmful effect of ozone
depletion.

8.  HNETEl = % AN AR & Frehia & i feen feifa s aren gfaorge
arTse Tem fofan | 38 W w1 ST aR & 3§ IR 919 o Hidt 3R STt
3cud grehia & i foem w7 i St foeet o % q § @ § e
S aferorerd feem & forgq o venfza &1 @ R 3
State right-hand thumb rule to determine the direction of magnetic field
around a current carrying conductor. Apply this rule to find the direction

of magnetic field inside and outside a circular loop of wire lying in the
plane of a table and current is flowing through it clockwise.

9. g % [U5H @ TORA o1 Tad Yo o [o&Iq01 1 1 HRT 8 ? Th gal
o Tk 91y 3Iod) foufa # @ @ wdew s & e & T woe W
ferfera: Ut vod Ybt o WEM U9 W UY Wl ¥4 % fau fw emw
Hifem | 3

Jroqan
TSl ST JEhIUM RIT 8 ? 9 TIESHT 1 ST shich AT hifle foh (i) FTe
% T FF @AW R A g @, a7 (i) T TR e It Wdid g
71 3
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What is the cause of dispersion of white light through a glass prism ?
Draw a ray diagram to show the path of light when two identical glass
prisms are arranged together in inverted position with respect to each
other and a narrow beam of white light is allowed to fall obliquely on one

of the faces of the prisms.
OR
What is scattering of light ? Use this phenomenon to explain why (i) the

Sun appears reddish at sun-rise, and (ii) the clear sky appears blue.

10. @5 g1g X foreht 3w gftfe gfshan & grar 7, ATadeq § T fohr I W HIE
JEEE Y S 8 ST Tehfd # IWIEHT g | X 3R Y Hl UgEIHT | ITEeS
Y i TSGR HifeTd g3giaass & @iy fshansti & dqfaq
Tt TRt fofEy | 3

A metal X, which is used in thermit process, when heated with oxygen

gives an oxide Y which is amphoteric in nature. Identify X and Y. Write
balanced chemical equations of the reactions of oxide Y with hydrochloric

acid and sodium hydroxide.

11.  h-afet & Tem e & fore siaet freft vaa arset &1 3w+ £ |
(a) 39 TSS9 AR TEEHS g7 e |
(b) 3T UIRSL I fohd TR SR ST 8 2

(c) & 39 Yad ISST ol UHT o T AT 1T &, q1 Th H3R 39 fUug yreq
BT 7 | 38 uieds & fore wqfora tamafres avieor fafau |

(d) 39 39d YIS hl hig Teh M Iy fAflgu | 3

A white powder is used by doctors to support fractured bones.

(a)  Write the name and chemical formula of the powder.
(b)  How is this powder prepared ?

(c) When this white powder is mixed with water, a hard solid mass is
obtained. Write a balanced chemical equation for the change.

(d)  Give one more use of this white powder.
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12. (a) T=fofaa stfufseaneti @ fafie yert o arffetor i -
(i)  AgNOg(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HyO(l) —— Ca(OH)y(aq)
(iii) 2KClO(s) —2— 2KCl(aq) + 305(g)
(iv) Zn+CuSO; — > ZnSO,4 + Cu
(b) TrfciRad e * Agfad THRIS THIHWET & T § ARG HINT

“Sfem Feise, vQfifem wethe & Afufskn wh Tgufem wse
R 9 Gohe st 2 17 3

AT

9 fore et ¥ o (1) A8 o1 ooty oot 350 uifiem stnerse i
forerem firemd 2, @1 13 31a8Y a9 ar 7 |

(a) 39 G k1 A1 T BT & 2 a&ifyd Nfies o1 4w fefgn |
(b) 38 Afufsha w1 wqfera TS Trfis fifEw |

(c)  AMGRAT & 37 q TR 1 TN aAse S 39 srfufsean =61 @@ =
T 3 | 3

(a) Classify the following reactions into different types :
(i)  AgNOs(aq) + NaCl(aq) —— AgCl(s) + NaNOg(aq)
(i)  CaO(s) + HoO(l) —— Ca(OH)y(aq)
(i) 2KClOs(s) —2— 2KCl(aq) + 304(g)
(iv) Zn + CuSO4 —— ZnSO, + Cu

(b)  Translate the following statement into a balanced chemical
equation :

“Barium chloride reacts with aluminium sulphate to give
aluminium chloride and barium sulphate.”

OR

31/413 T —
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When potassium iodide solution is added to a solution of lead (II) nitrate
in a test tube, a precipitate is formed.
(a) What is the colour of this precipitate ? Name the compound
precipitated.
(b)  Write the balanced chemical equation for this reaction.
(c) List two types of reactions in which this reaction can be placed.
13. HHE 3c8SH a7 S IR@ Wifaw iR f=fafaa st amifea hifdw 3
(1) AR
(i) & g9

(iii) =TS AT

Draw a diagram of human excretory system and label the following :
(1) Urinary bladder

(i)  Left kidney

(iii)  Left ureter
14. (a) Uigdl (Wiai) § afeer 93 7@ gran, T oft, afe gn foreft wagsfiar iew

! T B 7, o IFh! il H Y0 HH I IREad Bid 8 | SaRe
SHIfT foh I8 UTgU STRI 3L o A1 fohd TehR STfhAT Hal 3 3R I8
sk fohe YehR Tl Bt 2 |

(b) 34 g 1 9 faRaw fgept fr=fafaa @ foe foan smar 2
() forelt S e o o g 3 for |
(i) el R Sl H IR TaWTsH @i dig i & T | 3

(a) Plants do not have any nervous system but yet, if we touch a
sensitive plant, some observable changes take place in its leaves.
Explain how could this plant respond to the external stimuli and
how it is communicated.

(b) Name the hormone that needs to be administered to

1) increase the height of a dwarf plant.
(i1)  cause rapid cell division in fruits and seeds.

15. Samw = 8 ? Shawrdt i oy fgier w6 &1 Q@ fafet w1 989 8 9ol
HIT | 3

What are fossils ? Describe briefly two methods of determining the age of
fossils.

31413 " — P.T.0.
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W 3
SECTION D

16. (a) IR yaedq i ufeamr fafgu | soeht 1 fafern &t g=ht smsC |
(b) D YR & YUl sl ITH o foTT 38 Taem 1 3w @i T iar 3 2
(c) WIfhd AR@I I Tl & TEST H Fpad i Ufshan hI =

HIRT | 5
A
Ty R wed g 2 sueht = fafim fafte Y w=fht same | mifyge gt
IYTH % IR BT HRVT faRay | 5

(a)  Define vegetative propagation. List its two methods.
(b)  Why is this mode practised for growing some types of plants ?

(c) Explain the process of budding in Hydra with the help of labelled
diagrams.

OR

What is contraception ? List its four different methods. State four reasons

for adopting contraceptive methods.

17. (a) <IfTel & &9 § IUTRNIG A0 3R AR @i & fiw g =i i
ECUEEIEE
(b) N HATTAU T g I aitore, et 3w g fuifa e |
fora STt B Toh @1 Rl 19 foepm® & WGl H Th-gE o fehad e @,
3R ITh! SRS HIT | 5

(a)  List in tabular form two differences between acquired traits and

inherited traits.

(b)  Give an example of body characteristics used to determine how

close two species are in terms of evolution and explain it.

31/413 T —
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18. (a) TRl 3R g Afufspmest & &\, yoe & foau wamafes
THieRToT 1 TEmEET 9, fade St |

(b) HAHIfhd 3TN@ % H1Y TEL §9H o Th fhIThdA™M 1 989 H Ui
I | 5

HAAT

qTeH IR AqHTSIh H T 3= 7 ? fohell o6 W o faehs & gedl Wl g |
TG 1 AHTS Tk 1 HEY § 3@ HINTT | ST IET Sl 3K I § GHT gl
8, Al |G 1 IYANT S5 THTE F1 781 Bid1 ? 39 GHET 1 GHUH fhE TR
foram ST 8 2 5

(a)  Distinguish between esterification and saponification reactions
with the help of chemical equations for each.

(b)  With a labelled diagram describe in brief an activity to show the
formation of an ester.

OR

What is the difference between soaps and detergents ? State in brief the
cleansing action of soaps in removing an oily spot from a fabric. Why are
soaps not very effective when a fabric is washed in hard water ? How is
this problem resolved ?

19. (a) 39 & AHUSI i Tl FAEY TR ITAM AUSeI® 4 70 Tad aweft |

qedl o SRl § ToRaT o | HUSH® 1 Ed fem faRaw iR =men
Hifse fob 38 AU stad ARt A BESeH * wig [fved wam =
e T foRa |

(b) g Tad greft #§ ferelt (1) trad H o€ 3R ¥ Rl 3R 9 W e
(i) T8 (PU) H SW & =& I W =) o WAV & a5a § fohd
TR R 1 Tt (=) B & ? 5

(a)  List two criteria Mendeleev used in his Periodic Table to classify
the elements. State Mendeleev’s Periodic Law and explain why no

fixed position was assigned to hydrogen in Mendeleev’s Periodic
Table.

(b) How and why does the atomic size of elements vary as we move
(i) from left to right in a period, and (ii) down a group in the
Modern Periodic Table ?
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20. IS S A9 A1 F 50 cm ¥ FHH U hl IEGSAT ! T & oW Tl |
(a) 39 Afed o gfee g w1 9 faflge i 38 v & 1 gwifaa rom i
EEUEEISG
(b) 3T YRl H Y 1 g & fore fopror am@ Eifa |

(¢) 33U TN & gMyd & [0 3Tk g1 I foru I 91 <9 T TR
fafgu it Iuhl &mar uienfaid shifve | 79 &fifSw fo6 wm= 99 =61
fehe fag 25 em 2 |

(d) 3Tad vl ® gfee g o Gened & fore Fmifea sm@ Eifew | 5

A person is unable to see objects distinctly placed within 50 cm from his

eyes.

(a) Name the defect of vision the person is suffering from and list its

two possible causes.
(b)  Draw a ray diagram to show the defect in the above case.

(c) Mention the type of lens used by him for the correction of the
defect and calculate its power. Assume that the near point for the

normal eye is 25 cm.

(d) Draw a labelled diagram for the correction of the defect in the

above case.

21. (a) Toggq oo <1 9y T | Sieear Voo @ % R & wiE R
gty o1 h1g forgq @lRE g Toar @ | 9w AR gfedy % wai § wfe
% foTu =Iere =geaa hIfr |
(b) 100 W; 220 V 3TR 60 W; 220 V 3THdT o < Tagd oed 4red d 220 V
% fogrq #9 @ TfSIa § | Sedl g 7Y § ot TR 9wy §a i | 5
HAAAT

(a) Tordlt ST <A Tgar ¥ 379 I8 Ty form TR fepreitt fop v aiee
forelt St @ 2ofisen & TafSra €9 gfatieshi Ry, Ry 3R Rg % 9RUY &
YIH AT A g9 91 YaTEd gt ® 2

31/413 [ —
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(b)

(a)

(b)

(a)

F= feu v ufwy o1 FeEm S, FEfafea 3@ A

G) 12 Q Ufdges ¥ Jatiad 9m |

(i) A 3R A, TSRl B =R, Il 1 7 | 5
24 Q
_+
T gV % 12 Q
S
(39

Define electric power. An electrical device of resistance R is
connected across a source of voltage V and draws a current I.

Derive an expression for power in terms of current and resistance.

Two electric bulbs rated 100 W; 220 V and 60 W; 220 V are
connected in parallel to an electric mains of 220 V. Find the

current drawn by the bulbs from the mains.

OR

How will you infer with the help of an experiment that the same
current flows through every part of the circuit containing three

resistors Ry, Rg and R in series connected to a battery of V volts ?

s P.T.0.
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(b)  Study the following circuit and find out :

(1) Current in 12 Q resistor.
(ii)  Difference in the readings of A; and Ay, if any.

24 Q
_ 1+
T gV % 12 Q
1T
(3
IO
SECTION E

22, ‘Wi = g & foru fopeht uxht <hi forgt o1 STeemft 1w dum s JEn Y
fafer < spHeR 9 = fafgu | 2

AT

“Fgha B i i SpeTaEEs Bied ¥, T qui Fi WRifih e @

Tefea freafefaa st & 3@ df .

() B9 VAR T ol dTIEg 1 T&d & ?

(i) YoaTRR Fh o i W B Waqell § W AW et ggred &1 9
3R 3ITeh! YfirnT Tafau |

Gii) T¥opr il ¥ 9t W A =g a1 B 2 2

Write four sequential steps of the procedure of the experiment “Preparing
a temporary mount of a leaf peel to show stomata.”

OR

31/413 T —
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In the experimental set-up to show that “the germinating seeds give out
carbon dioxide”, answer the following questions :
1) Why do we keep the conical flask airtight ?

(ii1) Name the substance kept in the small test tube inside the conical
flask. Write its role.

(iii)) Why does water rise in the delivery tube ?

23. 3 V&I hl T FARY ek YR W g Ty fehren 5 @k fob & WA
TTES SIS W fgued quid § | 2

List two observations on the basis of which it may be concluded that the
given slide shows binary fission in Amoeba.

24. I3 B JINIH FANEE TS H Hifean Tothe ISel U 2 | 4 2l 918ed
H i W 98 B F1 ufigdd I ST ? 30 IR hl gfee hifw it

e hifve o6 a8 aifed aiadd fhd Tehr ITed o Heha @ | 2
T
(a) Tmafafga arqedt @ TR Afufshamfiqar & & (Jgd) A o
afeyd Hifdu
I, Teh, TIMiem qen st
(b) IR Hewe faera & g i W e & 30 fime & wwarq o1
AIegs H gelag fhT S aTt 31 Jequli <l = 91T | 2

A student mixes sodium sulphate powder in barium chloride powder.
What change would the student observe on mixing the two powders ?
Justify your answer and explain how he can obtain the desired change.
OR
(a) Arrange the following metals in the increasing order of their
reactivities :
Copper, Zinc, Aluminium and Iron

(b) List two observations you would record in your notebook
30 minutes after adding iron filings to copper sulphate solution.

ErrrEm P.T.0.
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25. W5 fIerd X pH 99 W 39! HIs 55 T W TR T <1 7, FAafh his 31
faera Y pH 99 W 35eh! §g T W geeht Hiar T1 a1 7 | 39 g1 faerai &
TR 1 7 2 X AR Y Tl o pH Feifa Hifm | 2
A solution X’ gives orange colour when a drop of it falls on pH paper,
while another solution Y’ gives bluish colour when a drop of it falls on pH
paper. What is the nature of both the solutions ? Determine the pH of
solutions X’ and Y.

26. fefaflga forw sm@ 1 steged AT 3R 38 e & ™ g &t Tt Q@
FfeAt &1 = ST | forw AB i fRufa % dggEy s a9 dfdfers 6l
Iredafaes feafa it aes #t guiy % fau o forr s diwe 7 FJfeat =
Tnfed Hifw | 2

A
F, oF,

2F; B F, O

AT

forelt = 1 fopelt wia & 50 & Tord areft fohtor 1 9y omifad & 2 |
38 YN I i o foT 3deh g ST S aTefl IR SradTt=i <l g
SHTST | 2
Study the following ray diagram and list two mistakes committed by the
student while tracing it. Rectify these mistakes by drawing the correct

ray diagram to show the real position and size of the image corresponding
to the position of the object AB.

A
F, 2F,

oF; B F, O

OR

A student has to trace the path of a ray of light through a glass prism.
List four precautions he should observe for better results.

31/413 L —
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27.

foret wfitigs & IR W fawarm &1 o9 varfea forpq gma W fFsfar =
e A & fore feffga -t sxeeen (ufiy) o€t B i =i 2 2

+ —

; ; o

ol L1 [ [
+ + +

HHH= HHH= HHH={ o

A B C D

Which one of the following is the correct set-up for studying the

dependence of the current on the potential difference across a resistor
and why ?

+_
o
J J J R R
éLHFIHJ é\LMFIHJ éALMFII‘—(J —*HFIHJ
A B C D

31/4/3 i ngyisn
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